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27 infers from the word mssn — NIRRT POOT 20

OVERVIEW

The mwn states that according to 1"2 we search NMIVHYT 17w MNXAT MW 1w (the
two outer rows, which are the upper [rows]). According to 27 this refers to top row
and the row immediately below it, and according to X this refers to the top row
and the row immediately behind it. The X723 explains that 27 infers his ruling from
the word mne°n (meaning that both rows face the entryway), while X infers it
from the word mi1hy (meaning that both rows face the ceiling). mooIn explains
why each one is inferring from a different word in the mawn.'
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It appears to the >''5 that 29 maintains that it is better to infer from the word

mnxon for that is mentioned first in the 7w (mbyn 1w mnxonn maw *w)* -
— 59515 RN MINIYNT 920 INIDY)

While X122 maintains that we can infer from the word mas»y -
:NYIN )N N WIDMY HIND MNWNAN MINIYT 115

since the word Moy is referencing the word ma1x"n and it explains what are
the NMINXM; namely the My,

SUMMARY
27 maintains that the first qualifier is most important; while 7X¥ maintains that it
1s the final qualifier that determines their position.

THINKING IT OVER

Is Mo0IN restating what XMWY 21 are actually saying, or is Moo explaining the
reason why %Xmw 29 say as they do? In any event why do they not say so
explicitly?!

" The xm3 asks v"» and seemingly does not offer any compelling reason why one description was preferred over the
other. See “Thinking it over’.

? The primary requirement is that they be n11%°m; immediately facing the entryway. The 71wn then adds an additional
qualifier that they are the upper (two) rows of these nnxn.

3 The mwn does not state NP9y NINXAT but rather MITHyA 10w MR, See 5" MdOIN.

* The mawn states Mavoya 17w, this qualifies that the n%°n must be NMIPHY, meaning that both these external rows
must face the ceiling.
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